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(Hgg.zef{%) H2S& H24E R HOS % [ (Hzgieiri.s) szggfgiéﬂﬁ
FHETHH(E) 284 361 293 294 293 -1
*FH 190 243 245 244 244 0
=] 94 118 48 50 49 -1
21K 172.0 182.9 234.8 237.6| 235.7) -1.9
L& IL—E 54.3 58.9 711 75.1 75.6 +05
EasIL—k 104.5 104.0 132.7 130.1 125.6 -45
HERIL—bk 13.2 200 31.0 32.5) 345 +2.1
ER 200.4 209.4 239.9 244.6| 2413 -33
JeERIL—bk 62.3 66.8 72.8 76.7} 75.8 -09
F&tL—bk 121.9 119.6 136.3 135.0 130.4f -46
HERIL—b 16.1 230 30.7 33.0 35.1| +2.1
= 1146 128.4 208.9 203.4 207.7 +43
JEEIL—+ 38.0 426 62.4 67.1 74.3 +7.3
RIL—bk 69.2 719 1139 106.2) 101.5 -47
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FRETER(E) 13,168 13,871 9,823 9,339 8,789 =550
Soys| 9,690 10,449 8,575 8,064| 7,564 -500!
*B 3478 3,422 1,248 1,275| 1,225 -50
&1k 37 48 70 75| 79 +04
L —k 27 33 49 59| 69 +10
F&tL—bk 6.1 78 9.4 9.2 89 -03
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FERIL—k 5.3 7.2 114 10.6' 10.2 -05
HEDL—~ 09 28 8.2 75| 79 +0.4




